
Scientific Notation

Really Big Numbers

Light travels 300,000,000 m/s.  Nobody wants to use all of those zeroes, so we use scientific notation instead.

step 1:  place a decimal point to the right of the largest decimal place



3.00 000 000

step 2: count the digits to the right of the decimal place



there are 8 zeroes

step 3: keep the first three digits and drop the rest to save space



3.00
*obviously, three is not the same as three hundred million!  we need to indicate how big the number is*

step 4: take the number from step 3 and multiply by 10^(the number from step two)



3.00 x10^8

6,720,000 = ________________


2,4500 = ________________

58,000 = ________________


593,284,001 = ________________

Really Small Numbers

One grain of sand may have a mass of .00067 g.

step 1: place a decimal point after the first non-zero number



0006.7

step 2: count the digits between where the decimal place used to be and where the decimal place is now.



it moved 4 places

*the original number is smaller than one, so we will use -4 to show that we moved the decimal point 4 places to the right*

step 3: drop the zeroes to the left of the decimal point



6.7
step 4: take the number from step 3 and multiply by 10^(the number from step two)



6.7x10^-4

.051 = ________________



.000040 = ________________

.000098 = ________________


.00000021 = ________________

Write the following numbers in scientific notation.
	1. 1001
	6. 0.13592

	2. 53
	7. -0.0038

	3. 6,926,300,000
	8. 0.00000013

	4. -392
	9. -0.567

	5. 0.00361
	 


 

Section B: Converting Back (Scientific => Decimal)
	1. 1.92 x 103
	6. 1.03 x 10-2

	2. 3.051x101
	7. 8.862 x 10-1

	3. -4.29 x 102
	8. 9.512 x 10-8

	4. 6.251 x 109
	9. -6.5 x 10-3

	5. 8.317 x 106
	10. 3.159 x 102



